DO NOT INVOICE THIS ADDRESS

City and County of Denver Purchasing Division 201 W. Colfax Ave Dept. 304 Denver, CO 80202 United States of America

Ph: 720-913-8100 Fax: 720-913-8101



Purchase Order Number	PO-00116495			
Purchase Order Date	Jun 3, 2022			
Contract ID				
Payment Terms	Net 30			
Payment Type	Check			
Buyer	Brenda Hannu			
	(720) 913-8118			
	Brenda.Hannu@denvergov.org			

Supplier

MECHANICAL PRODUCTS NSW LLC 8250 SOUTH 700 WEST ATTN SHANNAH DENNIS MIDVALE, UT 84047 United States of America Ph: (801) 3529003

Ship-To

Parks and Recreation Maintenance Building 4495 Jason St Denver, CO 80211 United States of America Russell Cromie

Bill To

Bill To Same As Ship To Denver, CO 80202 United States of America Jolene Cabazos

		Currency	Total Lines Amount	Tax Exempt	Total PO Amount	
		USD	\$852,782.70	98-02890-0000	\$852,782.70	
	Shipping Terms		Shipping Method	Shipping Instructions		
FOB Destination			Common Carrier			

Service Lines							
Line	Item Name			Line Amount			
Number		Description	Due Date				
1		CITYWIDE: AIR CLEANSING EQUIPMENT	12/31/2022	\$852,782.70			

Agency Contact Name, Phone, Email: Jolene Cabazos (Russ Cromie), 720-865-0360 jolene.cabazos@denvergov.org Supplier Contact Name, Phone, Email: Mechanical Products

THIS PO IS NOT VALID WITHOUT CITY COUNCIL APPROVAL

Refer to IFB 29351 and MPNSW Bid Attachment A - 5% FINAL Equipment List Pricing for product service description and pricing only.

VENDOR: You must call the agency contact listed above to confirm this order.

Purchase Order price listed herein includes all shipping and handling.

ALL INVOICING MUST MATCH THE PURCHASE ORDER EXACTLY AND CONTAIN THE PURCHASE ORDER NUMBER.

ALL INVOICES MUST BE SENT DIRECTLY TO THE BILL TO ADDRESS LISTED ON THE PURCHASE ORDER. THIS ADDRESS MAY BE DIFFERENT THAN THE SHIP TO ADDRESS.

CHANGES TO THIS PURCHASE ARE NOT VALID WITHOUT PRIOR APPROVAL FROM PURCHASING.

Joan

Additional Terms and Conditions for ARPA Grant Funds

The Contractor agrees and acknowledges that some or all of the funds encumbered by the City to pay for the services described herein have been provided in accordance with Section 603(b) of the Social Security Act, as added by Section 9901 of the American Rescue Plan Act, Public Law No. 117-2 (March 11, 2021) (along with all rules and regulations promulgated thereunder, "ARPA"). The Parties acknowledge that all funding from ARPA (collectively, "ARPA Funds") may only be used to cover those eligible costs incurred by the City during the period that begins on March 3, 2021 and ends on December 31, 2024:

- To respond to the public health emergency with respect to the Coronavirus Disease 2019 ("COVID-19") or its negative economic impacts, including assistance to households, small businesses, and nonprofits, or to aid impacted industries such as tourism, travel and hospitality;
- b. To respond to workers performing essential work during the COVID-19 public health emergency by providing premium pay to eligible workers of the City that are performing such essential work, or by providing grants to eligible employers that have eligible workers who perform essential work;
- c. For the provision of government services to the extent of the reduction in revenue of the City due to the COVID-19 public health emergency relative to the revenues collected in the most recent full fiscal year of the City prior to the emergency; or
- d. To make necessary investments in water, sewer, or broadband infrastructure.

The Contractor shall only utilize ARPA Funds for the purposes described in the attached purchase order. The Contractor agrees and acknowledges that, as a condition to receiving the ARPA Funds, it shall strictly follow the Coronavirus Local Fiscal Recovery Fund Award Terms and Conditions attached hereto and incorporated herein as **Exhibit A.** All invoices submitted by the Contractor to the City pursuant to this Agreement shall use "COVID-19" or "Coronavirus" as a descriptor for those costs that are paid by ARPA Funds to facilitate the tracking of Agreement-related spending related to COVID-19. The Contractor shall segregate and specifically identify the time and expenditures billed to the City on each invoice to allow for future review and analysis of COVID-19 related expenses. To avoid an unlawful duplication of federal benefits, the Parties agree and acknowledge that the services and/or goods provided by the Contractor for which ARPA Funds are used shall not, to the extent that ARPA Funds are used, also be paid for or reimbursed by monies provided under any other federal program.

The City agrees and acknowledges that it shall obligate the use of ARPA funds for the services performed and/or good provided by the Contractor under this Agreement no later than December 31, 2024. The Contractor agrees and acknowledges that all services performed and/or goods provided by the Contractor using ARPA Funds must be performed and/or provided, respectively, by the Contractor no later than December 31, 2026. Further, the Contractor agrees and acknowledges that payment for all services performed and/or goods provided by the Contractor using ARPA Funds must be provided by the City to the Contractor no later than December 31, 2026. As such, the Contractor shall invoice the City not later than November 1, 2026 for all work performed pursuant to this Agreement for which ARPA Funds will be used to enable sufficient time for the City to review, process, and pay such invoice no later than the performance deadline prescribed in ARPA (the "Invoice Deadline Date"). Any invoice submitted by the Contractor after the Invoice Deadline Date for services performed and/or goods provided on or prior to December 31, 2026 may not be eligible to be paid by ARPA Funds, and, to the extent that ARPA Funds are not available to pay such invoice, partially or in total, such invoice shall only be paid subject to funds

appropriated annually by the Denver City Council, paid into the Treasury of the City, and encumbered for the purpose of this Agreement.

To the extent that the Contractor's services hereunder contemplate the spending of ARPA Funds, the Contractor shall provide to the City information responsive to mandatory performance measures, including programmatic data sufficient to conduct oversight as well as understand aggregate program outcomes. Further, in providing the ARPA-required information to the City, to the extent possible, Contractor shall provide this programmatic data related to such services disaggregated by race, ethnicity, gender, income, and other relevant demographic factors as may be determined by the City. The Contractor shall insert the foregoing requirement into all subcontracts related to this Agreement, thereby obligating all subcontractors to the same reporting requirement as the Contractor.

The following paragraph replaces "21. Records and Audits" of the online Purchase Order Terms and Conditions.

The Contractor shall maintain records of the documentation supporting the use of ARPA Funds in an auditable format, for the later of five (5) years after final payment on this Agreement or the expiration of the applicable statute of limitations. Any authorized agent of the City, including the City Auditor or his or her representative, and for ARPA Funds any authorized agent of the Federal government, including the Special Inspector General for Pandemic Recovery ("Inspector General") have the right to access, and the right to examine, copy and retain copies, at the official's election in paper or electronic form, any pertinent books, documents, papers and records related to the Contractor's use of ARPA Funds pursuant to this Agreement. The Contractor shall cooperate with Federal and City representatives and such representatives shall be granted access to the foregoing documents and information during reasonable business hours and until the latter of five (5) years after the final payment under the Agreement or expiration of the applicable statute of limitations. When conducting an audit of the use of ARPA Funds, the City Auditor shall be subject to government auditing standards issued by the United States Government Accountability Office by the Comptroller General of the United States, including with respect to disclosure of information acquired during the course of an audit. No examination of records and audits pursuant to this section shall require the Contractor to make disclosures in violation of state or federal privacy laws. The Contractor shall at all times comply with D.R.M.C. 20-276.

IF MP NSW IS AWARDED BOTH UV RESOURCES AND BIG ASS FANS EQUIPMENT IN FULL, 5% DISCOUNT TO BE APPLIED TO ALL PRODUCTS/PRICES LISTED BELOW							
						Price/unit (w/ 5%	Total (w/ 5%
Item	Description	Est. Qty	Price/unit	Total	Notes	Discount)	Discount)
Upper Room					All pricing includes freight, is valid for		
Uvs					Acceptance Period (Section C.5)		
					MPNSW Quoting (Stock on hand,		
glo-150		117	\$1,070.00	\$125,190.00	Warranty 3yr)	\$1,016.50	\$118,930.50
					MPNSW Quoting (Stock on hand,		
glo-225		58	\$1,111.00	\$64,438.00	Warranty 3yr)	\$1,055.45	\$61,216.10
		0.5	44 500 00	4.0 == 0.00	MPNSW Quoting (Stock on hand,	4	444 === 40
glo-310		26	\$1,683.00		Warranty 3yr)	\$1,598.85	\$41,570.10
ala 1500		70	ć1 704 00		MPNSW Quoting (7wk lead time,	ć1 CO4 SO	¢122.104.40
glo-1500		78	\$1,784.00	\$139,152.00	Warranty 3yr)	\$1,694.80	\$132,194.40
					MPNSW Quoting (8wk lead time,		
RAP Units		30	\$2,711.00		Warranty 1yr Mechanical)	\$2,575.45	\$77,263.50
			φ <u>υ</u> ,, <u>11.00</u>	ψ01,000.00	Trainer 17: Meditalically	Ψ2,373.13	ψ77,200.00
Haiku Fans							
					MPNSW Quoting (4wk lead time,		
					Warranty 3yr Mechanical/3yr		
Haiku 4'		74	\$2,233.00	\$165,242.00	Electrical)	\$2,121.35	\$156,979.90
					MPNSW Quoting (4wk lead time,		
					Warranty 3yr Mechanical/3yr		
Haiku 5'		31	\$2,334.00	\$72,354.00	Electrical)	\$2,217.30	\$68,736.30
					MPNSW Quoting (4wk lead time,		
					Warranty 3yr Mechanical/3yr		
Haiku 7'		7	\$2,842.00	\$19,894.00	Electrical)	\$2,699.90	\$18,899.30
Essence Fans					MADNICIAL Countries (Acceled and Advance		
					MPNSW Quoting (4wk lead time,		
Essence 8'		4	¢7.01E.00	¢21 260 00	Warranty 10yr Mechanical/5yr	¢7.424.25	\$20,607,00
Essence 8		4	\$7,815.00	\$31,260.00	ciectrical)	\$7,424.25	\$29,697.00

MPNSW Bid Attachment A - 5 Percent FINAL Equipment List Pricing

Essence 10'		9	\$7,917.00	\$71,253.00	MPNSW Quoting (4wk lead time, Warranty 10yr Mechanical/5yr Electrical) MPNSW Quoting (4wk lead time, Warranty 10yr Mechanical/5yr	\$7,521.15	\$67,690.35
Essence 12'		10	\$8,018.00	\$80,180.00		\$7,617.10	\$76,171.00
UV in Supply Duct							
	Model # RTU-1				Part #		
St Charles					57806550, MPNSW Quoting (Stock on		
Rec Center	DLX-N-HO-120-277	2	\$424.00	\$848.00	hand, Warranty 3yr) 82685319, MPNSW Quoting (Stock on	\$402.80	\$805.60
	SEL-31RL-T508-HO-1-EL	4	\$173.00	\$692.00	hand, Warranty 3yr) 90001500, MPNSW Quoting (Stock on	\$164.35	\$657.40
	UVR-120-240V-ISS	1	\$115.00	\$115.00	hand, Warranty 3yr) 90001530, MPNSW Quoting (Stock on	\$109.25	\$109.25
	UVR-WP-TS	1	\$47.00	\$47.00	hand, Warranty 3yr) 90007509, MPNSW Quoting (Stock on	\$44.65	\$44.65
	WS-12x8	1	\$31.00	\$31.00	hand, Warranty 3yr)	\$29.45	\$29.45
	RTU-4						
					57806550, MPNSW Quoting (Stock on		
	DLX-N-HO-120-277	1	\$424.00	\$424.00	hand, Warranty 3yr) 82685249, MPNSW Quoting (Stock on	\$402.80	\$402.80
	SEL-24RL-T508-HO-1-EL	2	\$162.00	\$324.00	hand, Warranty 3yr) 90001500, MPNSW Quoting (Stock on	\$153.90	\$307.80
	UVR-120-2400V-ISS	1	\$115.00	\$115.00	hand, Warranty 3yr) 90001530, MPNSW Quoting (Stock on	\$109.25	\$109.25
	UVR-WP-TS	1	\$47.00	\$47.00	hand, Warranty 3yr) 90007509, MPNSW Quoting (Stock on	\$44.65	\$44.65
	WS-12x8	1	\$31.00	\$31.00	hand, Warranty 3yr)	\$29.45	\$29.45

MPNSW Bid Attachment A - 5 Percent FINAL Equipment List Pricing

Scheitler Rec							
Center	RTU-1						
					57806550, MPNSW Quoting (Stock on		
	DLX-N-HO-120-277	1	\$424.00	\$424.00	hand, Warranty 3yr)	\$402.80	\$402.80
					82685249, MPNSW Quoting (Stock on		
	SEL-24RL-T508-HO-1-EL	2	\$162.00	\$324.00	hand, Warranty 3yr)	\$153.90	\$307.80
					90001500, MPNSW Quoting (Stock on		
	UVR-120-2400V-ISS	1	\$115.00	\$115.00	hand, Warranty 3yr)	\$109.25	\$109.25
					90001530, MPNSW Quoting (Stock on		
	UVR-WP-TS	1	\$47.00	\$47.00	hand, Warranty 3yr)	\$44.65	\$44.65
					90007509, MPNSW Quoting (Stock on		
	WS-12x8	1	\$31.00	\$31.00	hand, Warranty 3yr)	\$29.45	\$29.45
				\$897,666.00			\$852,782.70